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™ g ¢ ’,‘r"  MamMarks b ooA80
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You will riot be allowed to write dunng the first. 15 minutes.
This time is to be spent in reading the qiréstion paper:
The time given &t the head: of this Paperis, the timé allowed for wnttﬂg the
answers; Attempt seven guestions in all ; ,
A Part [ is compulsary, :
All guestions: from. Pért § dre to be attempted
A total of five questions are to be attempted from: Part il -
Thc intended marks for guestions'or parts of quéstions are given: in
" brackets|].
- To bc Supphgd with this Paper' Burvey oflndia Map Shcct N‘n. 45 D16 and
| 200om of ETIne, ]

Note:

) Iaall Map Wox‘k, make wise ‘use of arrows to indicate po 'tx‘tms: of
. countries, citles and other mscrhgns, to avoid. overerowding: parts
of the'map: ' -
(i The extract of Survey of Xndm Map Shcct No.. 45 D/ 10 mustnot he
‘taken ouf of the examination hall. It must be handed overto the

| - Supervising Examinier on completion of the Paper. - .~ =~
(i) The Map given at the end-of this qucstmn paper must bc i'astencci

&, to your arnig¥er booklet. .
-~ (v) AN sub—sectxons of cach questxon must be answercd in thc cozrect -

- . serial order.
v} Al working, mcludmg mugﬁ Work should be done on thg sarne

answer sheet as the restof the answer. o . e
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N 'f PART I (30 Mar!m)
Att.empt all qncstmns fro'n ﬂns Part

- Ouestion .L

Study the cxtracs oi‘ the Survey map of India ; shéet No.45 D/ 10and Arigwer

* the foﬂowmg questionss (QG marks)

Choase the correct optienis far eack cf the followmg, SiXﬁgumgnd ;

reéference:

{@) Thc tcmplf: North Westof Dcvangan
, (1 1} 1 84118 - ' .
) 174117
gy 18811%
(W) 193120 -

- )  Tha spot. he:ght 890 near Paﬁowa Gohya )
(i) 184678
) - 176077
(it 171087
Gvj 186077 ]
(c] Whatis the cnmpass dn'ectmn of the: followmg
" {if  Sunset point (2110} from Nakhi Talao (221 1)
(i) Rgj Bhawan (231 1) from Siuiniset point (2110),
{d) () Statethe main sovirce of* watersupply for the tow:
; : Give a reason for ydiir answer. nsh"p Of Abu

(i How is the draindge pattern ingrid: Sqlisre 2307 e xﬁ'
- in gnci sguare 1708? " = e*'mtt@ that '

{8} By what modes of transport Will a-tourist. travel from Abu to reach

Hanumanjx ka Manchr and: Gautam Mahal‘ith a.‘,_,mple?

{0 | (i) State the sxgmficanc:e of the black dotted
2409,
(ii) Howis it bcneﬁcial to tha: townshxp of. Abu?

line in. grid square

' () State two rcasons why tourists would visit Vashlsht Ashram?
(b) How .is 7r ingrid 1509 different frotn 6r in grid 19037

- {i) -Mention two different kinds of vegetation found in. the ‘map ext.ract- :

~and state the four figure. grid reference. of each.

() State the significance of the black ve"m“cal and blaok hormontc;l lmes '

on the mizp extract.

(k) HOW many kms Wﬂl you have to tiavel to. get from St Marys School
to Sunset point along the metalled road? ,
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. (10
~ On the outling map of fnnxa prondcd rifark and Iabél the followmg* I I
(a) The winds that. bnng cainfall to the city or Amr:tsar dqnng Dccembcr o
and Jafuary: v )
(b) Thefiver also Kaiown as thc ‘Socrow of, Assam L S 1
[C) - The Thar desept_ T ' L - . ) 1)
{d) - A {freshwater lake in the north of l’ndna e - '(1']'
- {¢} " TheKarakoramirings - R -:(;1_, |
)  MiXanchepjunga. - . | : : { )-.
(8 Thecosst that js the first: {6 receive monsoon ramfall. : % 1)
(h] The region ity the posth east with laterite soit. © 7 . L .(}}:
() ~Thelargest gpalfieldin Indla. o _ (1)
6) Thecityofpy. o - T N

: - Fart:} {80 Marks)
. ) ju,tempt enlyﬁve questions from t}us Pait. .
" Question 3 :

.{a) Chodssths t:ormx;t opﬁnnto complct& ¢ach Sﬂnt.ence;‘ R N )|
' (i The two months associated with . the:- Retreating Monso,o-n'.'.-;‘.- '4 |
R areo\! : : .
* Juneand July - ¥ RN
«  Septeiriber and Octobcr .
*  Octoberand November
e Decémherand. January ., |
(uj The North, Bast: Monsoon winds’ bring mammum ramfall ta
«. Bangalore
+  Kochi r"a; : ,, ®
- »  Hyderabad .
. Chcnnalv__._. K =‘..'5f- Pl ¥ O A PR L

S Name two states that are aﬁ'ectcd by the ‘I{a]bansakhj =
- (i) . Howdo ‘Mango showers’ mﬂuence the state of: Kamata&a? ‘- (2)
) Givea geographical reason for each of the ,followmg AR EE LA (3)
(i) ° Fishermen, are advised not to venture:- mtw the Bay o.f Bengal
- durihg the mianth of October, = =i oy me o S £
(i)  Central Maharashtra gets lcss ramfall E t,han co?sts'tzil" Vol
. Maharashtra. - e :
(iii) Even in sumnqer, thmla is cooler than Dclhn N

, 5
b * s 5' ¥
.
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(d) - Study the climatic dafa given below of a city in India and answer the

following quiestions that follow:

“Month_ T.' J :'Ei M| Al M 3.1 3 ASO X
Temperaturs wwtignlnt el acel wnn by .61 998120.21255] 19.
indegreeC | 1371162 216|255 33.232.5 308 cianit i it g
r—al kad 20[15]09] 15|75 17.8] 185} 12.5

[}
N
n
Lanclll’
=3
()
[3w]
‘e
oy
K

(i) Calcntate the annual range of temperature.
(i} = Which are the hottest and the driest months in the eity?
i), Calctﬁatc the. annual rainfall. Name the wirds that bring
maxiimam rainfal to the ity

Questiond -~ < . S e o m(‘mj

{a) Chnose the: correct option to complete eaghi séntence: .- . .. {2}

© 7 {}}. . The soil formed due to leachmg in areas of heaw ra:mfa;il ’
»  Mountain soil | | -
»  Affuvialsoll
*  Desertsoil
».  Laferite soil.

= (i) ‘The soil also known as ex-sztu’ sml

- & Blacksoil . g T A
e Allmvalsel 0 T

'_“‘»., Laterite soil = Nt B e T

e  Redsoil - e

tack, 3 (2)
{ii} State why the alluwa] soilin the lower Ganga plams 1s vexy |
S feftlle °

(x) Statc g0 1mportant ,c__hamctnnshe of black sml thqt othcr soils

(¢) - Give geographxeal reasoit for-each of the j‘ellowmg* N <
{i) - Red soils.requite irrigation for eyltivation, - . - .. .. . |
(ii)  Laterite sofls argnot suitable for cultivation.
(i) Soilsin Rajasthan are prone to-soil erosmn. -

~'::.' vé‘.‘ . -

d) (1)_ State one measure taken in: the northcast to control shﬂnng o
| - agricultyre? . 1)
(i Explmn two human actwmes that cauise: soil ems:on. U @)

-
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Z Questlsn §
(@) © Choose the correct option to comiplete each senfence:

() ‘This hardwood tree tbnt is uscd 1o mzmufacmrc raxIway sleepers
- ) P:ﬂas
| -.'- Nccm o
T ... .. * “Sundari S . : =
" % “Tepk, e
(ﬁl The fraie of thiy: troe.is rich § in Vitamin 04 :
* Sundari.
¢" Ber
¢ Sandalwood,
» Dedd’ar‘

,}_

(b)) . “With referefide to the trees found in. regjons with 150 to 200 cms af
. ra;nf‘all, answer the' followmg questions:

) Nuine the type of forest found hete.
- fH) St:etrz an important charactcnsﬁc of this. forest.

). Answer the followmg‘ ' '
] - State one characteristic of Littoral forcsts

corrimireial PUrsose?

f(ifi); The wood of Which tree is most: su,ltablc for makmg mu51cal

mstrumcnts

) Gwe a geographical reason for each of the followmg.

‘ () . Conservation of forests § 13 of vital impértaiice.
- (). Trees are planted around iron and steel plants,
{iia) - . The: Chipko movement should be. repht:atcd

Qﬁesﬂi‘in 6 o

Ia)j Chodse the corrcct option to complete each sentence~ _“’ ; =
(1) One disadvantage of well irrigatlon i3 tllat o ’.‘"(".::"""_f , s T,
».  Wells are. costly todig . SRR L { A YRt

"% ' Thé water has to be lifted: from great dcpths

distribution varies from rcgion to region
e .'-. .‘."Chcap elecmc:ty xs needed to pump water from wcllsa '

) Why s it difficult to exploit tropical ever’green forests for'

'4‘

e Wells depend on . undeérgroing. ‘water resource whose .

& Ly
.-

{10)

@

@

{3)

| ';mx
@

(u) An cxarnplc ofa modcm method of 1rrigatxon is .“7" il

Wells

) B 4 L b 5, f
. -SPnnklcrs ‘ AU'BEPM ms.«'-’;- . ax}w
) L] ‘ 'Borcweus ! Shppj},f, 5], H" %, . v‘; I LS ,\33‘6} :f,,’ﬂ__ Plxw, i it
_" .Tan‘{s 15 \ ThD]’ ur}'"“'{.".’,"‘.,\, "'?",;:",n‘ -""“-‘:"-"' .:" :“it';‘!?;’n's*":‘;-' *
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. followin 1mgmxon mcthods. e SR b
lzllamc ::j;a(r)ﬂ; sul%n’efged veitical whccl Wlth buc ts :
1

nd tm'ned b)' an ammal 4;. o . LR : Stone Wan Witl'i
(i) "Ia‘;lcae are excavated; lined .with -a brick or \

. open'ngb at regular mtcrvalp.

()

uestion & |
@  Withreference to canal irrigation, answer thi ollowmg q

" ) Whyis it mainlyconfined to the alluvial nl;msef
( ii} ~ Narme an 1mp0rtant state o’ norﬂl India wher
is practised, - tioh. -
(iii; Btate an-advantage and a.disadvantage of cana! irriga

ca'nal- lmgauon ,

A

@] Givea g&’ogaplncal reason. fo" :ach of the' foﬂowmg :
W) Tankirrigation is not’an efficient means of irrigation.
()  Dripirrigation helps to coriserve water.
{m} Conservation of watef has Become the. necd of the hour.

Qneﬁﬁnu B

[a) Chaosc the correct optmn to com]plete eamh sentence.
{1) - “The: oldest.oilfield in india is .

. Raniganj

L& Jhana

% Digbel E‘l“ ¢ POt -

* Mumbai High é\op i ,;' _.:;Aj,f'a: A1 Utsay,
_— L ‘ 7'-\',"-:;;‘ _;,’:.“,,;n,,.l (E) -
(1) - The bcstvanety ofxronorem d i o Thakury o an el

o 5 Limonites LT s e Meb. 0521283050, .

4 Magnctitc it . b, vy T vt )

» Antracite

). ‘Answcr the fnllnwmg questmns.

(] Namea nen—ferrous mctal and. state an 1rnportant use ef 1t m
' lndustncs

3 (ii); B What is the most 1mportant use of manganese?

© G(l;le aT%eo%raphxcal reason for each of thc followmg: , R |
SRR e location of coalﬁelds 1s an ‘important fac t
devclopment. ° etor. xn mdustnal,

- (i) - Bituminous coal is used i in the iron, and steel mdus’t:y.-
(i) - Oil reﬁnenes are locatcd close to ports -

(d) j With - Tegard to multl ’ ‘ t
- - questions; PHUTEosR projects, answer the fallowmg
(1) Name the river on

‘whiich th |
(i)} N ame two, benefici : Bhakra Nangal prpject Is located.

(i)~ aty states.of this project?
tate two i important purposes of th1s project. S
ﬁM”f?i,tra\ SIS - E SR S R
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Quesﬁons ' o ' - L e = 1)
{2} Choose the correctoption. {n cu:npletn esch sentcnce:: .
"_ (i) Thomein kharil crops glown inIndia ar
- . Rlc" and uhte = -
& hcat and barley .
#. Maize and pulsés '
. O.lseeds and Sugarcang - .

) The process: of soaking Jutc stalks in water to Iacdliatc ﬂlﬁ
reinoval of its ﬁbms is
* Ratooning =~ - . :
'. . gihl}’i'ng . ) ' :.._‘.:. ¢
¢ Retting
. Wmnuwwg

L) - With which crops are the fo;lemng aSSOCIated? Namo the Iargest - (8)
" producing state of each crop: R . s
(i) Japanese mcﬁzod e ‘ ' '
{iij Runner ty
(i) - Sett 'me’t'had -

{e} With reference to téa culhvanem answer the followmg questmns = S (3}
' (i) State two important cliniatic condiions rcqmred for tea.

i) Whyistea picking. genérally done by women? - ,

{m) - Why is prumng reqmred at regular mt»rvals?

{iy Millets'are refefred to as. dry ciops. .
{id) Ziad crops are exclusively irrigated crops
cEy  ©rx ange trees.are grown on ¢offce plantahons

| ) Give a geographlcal resison foreach of the following: SR o 'A (31 :

Questions . L e Fan)
@ Choose the correct optacm tio. complete each sentence;* : LEE | (2) '

(i} The state of Assam. has thé Woﬂd monopoly m thxs vanety of
b3t . Sﬂk ) g ,_' i . X L Q78 o A , ..._‘_.‘ !'- . ‘ ; L\ 4
o Mwbeﬂy fertn ' -

o ~Muga .- . . dyr I
. C‘a‘ccoﬁ o Thakm NS and "““\‘*)
‘. Seri L o Mw‘n -453 101, “~_
. | U e, 982125"050: PRI LT
CEm) Th1s by~product is used tomanufacmm mdustnal alcohol. S
R Bagasge_ s o . i ..‘ L ORI Zock -;__ '
. Prcssm‘ud . S e ) o Y s
e - Molasses: - i-—‘;
.+ . Oilcake =
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me the foilu'vmg. 20 @)
The type of industry run by household members. . <)
i) The industry owned and managed by the state or the central . .

~ goveroment. ,

(i) The dldest steelplani’mlndla,

h\'}- The IT eapxtal of Lndia. ' .

"“"'s:-:v “’

Give agecgraphicaimn?ur each theé i'cnowmg B " “(-?;,}-

e

{if The €lectionic mﬂns‘trg is- proving to be an as..e* for our
cox;n_g;y

{:"} The coltsti téth.e midostry is Josing its unportance. |

(iif] State an a&vamage ol mini steel. pig_nt pver an mtegrated.
s&el plant. S S '

g ot

{d) With reference to-the. Ramkera Steel Plarit answer the following: (3}

Qnestmnm L . e T CsE g (10
(2]  Choose the corwest-option to Compi-ﬂte gach sentencer ¢ | (2)*

{i} Which foreign country collaborated to set 1tup? o
(i) Vhere does the pIz‘mt gat its iron: ore, limestone and water

snpplyﬁom?

@] The ﬁﬂwa_.y Tins -tk connects. Mumbau in, Maharashtm 1o
- ‘dangalp:e i Karnafaks. ' _ » “ B

Westeriy Railway . s ewrape L gt

Nm"th @.st;m:aﬂway T

Southmnraﬂways IR ‘f‘* T By

‘pt‘,p

(i) The nvenm-. portlncatad on the banks of the HOOgth

H §.r

I R IR TN DS srtadet b i
RN P YR - . ¥

. M\lmbax -
‘-"_ -Chernal -
. Kolkata

(b} Answer the following: : R
State one 1mp0rtantfunchan of the Bm'cfcr‘R: isation.

i)

(¢ f) Namethe tldal port.ox the wcstem coast whxch is, also ‘a ;frcc
trade zone area.. ,
(ii) Whyjs it easier to set rmlway lmea m the northem plams than -
in peninsula regmn'? oL R Ttk S S (z‘lji'
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Ographmal reason each of tg "
ﬁ;‘v’?g’ SCWater tranSPQn lS not €.
fl. - peninsulaIndia,

The- Golden -
| x;cmtry,. _Q\ladrﬁater 31 | 'y "ceno:mc bencﬁts for the.

th &T;he Cotrect option to complete each sentence:
& waste dumped daily at a site and covered with earth to
Prevent inggcts and rodents fnﬁ‘m getting to it.
- Compnshng :
" @ Sanitary Landfills
' * Segtega’txon
¢ Dumping

(' i} The Increasing concentrahon of various:toxic substanecﬂ 910118
" the food. chain. - '

». chregaﬁon

- COmPQStJﬂg

« Eiomagnification

e Eutroph;cauon

(b) . Su ggcst two. ways by which vehicular cxmssrons can bc controlled

u;’.} Answer the following:
- {i State two sources of E-waste, s
(i) = How is compbosting advantageous to us?

@ lec a geographfcal reasons for each of the following::
~ (i} - We must avoid using polytherne carry bags,

(i} Increased use-of orgamc manure mstead of chermcal fertﬂxzers
- - ismiecessary.
4

| L : (iil) Use of pubhc transport is gammg nnpor‘tance

i
3
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1o 1SPOTE 1S expensive. web i6Se o po s
}#  meansof IﬁmSpemp 1S ;cxpgnswﬁ* yet itis a favoured

_ ’ i) Why is waste segrcgauon the first'step: to waste: managamcnt? o

(10)
@)

(2).
(3)

@



